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Q1 77 9 & INER & 9 A% F W @7 F7 st wxar §) R 9fEw
& ST T33,650 ¥ A TRER ZIRT FAAR AR siee W TR w7l 7
e g = &

Expenditure of Family

B Food @ House Rem  Enterrainment = Chid EQucation M Medical mProvident Fund

Expenditure of family - STR=TR® @=r

Provident Fund - stfasar fafer

Food- @Ieg Terey

House Rent - &X & f&IAT Entertainment - #AARS

Child Education - s==if &1 Targ

Medical - Zasar

The chart represents the domestic expenditure of a family per month. If the family income
is ¥ 33,650 then the total money spent by the family on entertainment and food together

per month is:

Expenditure of Family

BFood B House Rert ® Entertainment & Child Education

Ans 111,144
2 T 11,442

3 T11,414

v ¢ T11,441

Q.2 cu0 +H, - Cu+H,0 Ig THOT et & ¥ fFma o 30T &

Cu0 + H, — Cu + H,0. This equation is an example of:

Ans Eeper
1.
Oxidation

For More details, visit : www.10pointer.com
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&
Decomposition

Redox

4

" Reduction

Q3 e FefaoT (taxonomy) & Feffertor Fr T gS FAT & ?
What is the basic unit of classification in taxonomy?

Ans he
|
Order
z 3
Genus
3
Family
"
Species

W 3

Q4 =7 fefda & a1 sare fwd F6 & FROT AT G qg T 32

Name the vitamin whose deficiency causes excessive bleeding?
Ans
, afa=E B
‘itamin B
ECUECE.)
2)
‘itamin A
af@aa C
3.
‘itamin C
fFaf@aa K
4.

fitamin K

v

Q.5 v FFg F 10 HEHRT H Fad FaT$ AT TF Scadl A & JET T W @
S ¥ 1A o & awg B g 30 FeeT &, & wiafde e g W e 2

An object is placed on the principal axis of a convex lens of focal length 10 cm. If the
distance of the object from the lens is 30 cm, what is the distance of the image formed?

Ans <
20 TS

20 cm
21 AT

15 cm
, 10 &I

10 cm
, 30 #éAeT

30 cm

Q.6
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T 71w e W AR #{ 3R a7 w1 F Ao suEt § @ sla-ar sua
TR F 3o & & fow e g

UV, W, X 3T Y o 3l A1 & 3ma@-9F &3 &, B & IrF Fid dar 82

EEGEUH

1.D, A 3R F & &= d=1 31
2.C, B #X F & &7 a1 g1

Consider the given question and decide which of the following statements is sufficient to
answer the question.

U, V, W, X and Y are sitting at a round table; who is sitting next to B?

Statements:

1. D is sitting between A and F.
2. Cis sitting between B and F.

Ans J’ 1.
feT 71T goF F 3R &7 F fow 1 3k 2 P weT §
Both 1 and 2 are sufficient to answer the given question.
2.
R ma FscaR A & e arar 1 ar & 2 gareg g1
Neither 1 or 2 is sufficient to answer the given question.

o
& 91T 92 & 3ca? e & AT 1 Heholl GAIST §, Fale 2 3Haholl AT T
2l

1 alone is sufficient while 2 alone is not sufficient to answer the given question.

4.
T 9T T2 FT 3ea &7 & o0 2 3rpeT qacT &, Safd 1 30T gAea @
gl

2 alone is sufficient while 1 alone is not sufficient to answer the given question.

Q7 I F TN F FA SEHFEES A JaTRd A W Ig OA & ST o
e BT & @R @ 32

Lime water turns milky when carbon dioxide is passed through it. It is due to the
formation of:

e aREw FrEtEe

Barium Carbonate

| HIRTH TS
Calcium Oxide

o FICAH Fefae

Calcium Carbonate

) FoTH TSI FElAT
Calcium Hydrogen Carbonate

Q.8 wyadr 2018 ¥, T FaTEeT WeA (ST, UALAY) H FiA ¥ RS A 9T
faerve 1 39 AgfeRes (FREA) & w9 A ged R

As of February 2018, which Indian paediatrician has been appointed as the Deputy
Director General (Programmes) in the World Health Organisation (WHO)?

Ans ) g‘i.' s'.ﬁ_{r %‘_‘EBGT
Dr. Indira Hinduja
" ST. TH. HS. 9EnEar
Dr. SI Padmavati
, 1. FIfA T
Dr. Kamini Rao
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Dr. Soumya Swaminathan

v

Q.9 T 77T FeFdedl H T AT F Tl 3R Tg 9T T & FiF T (@) Fewy
T F THET T W HTEOT (FIAT §) I

qEFAA:
Fo &2 9l § | @ 9l o

forsay:

1. Tl wor el ¥ |
2. FTER FAE |

Consider the given statement to be true and decide which of the given conclusion(s)
logically follow(s) from the statement.

Statement:

Some bugs are birds. All the birds are fruits.

Conclusions:

1. All the fruits are birds.
2. Some of the bugs are fiuits.

Ans P Faer fAsHT 2 FFHIT FLaT ¢
_1

Only conclusion 2 follows.

1 3R 2 gt regeRer w3 E
Both conclusions 1 and 2 follow.

1 3R 2 2= JHTET A A
Neither conclusion 1 nor 2 follows.

. Fad AT 1 FEIT HLT g
4.
Only conclusion 1 follows.

Q.10 o =afaa 40 fretder 9fy g & aify & M Torey HifbE 1 Bae g
TET ST &, et 36 freheer wfy g & afa § M gee W oag Sifea 3
fee & & TFaar § W ¥ Hw I F 97 et g (Rreier /) 9w
T 87

A person driving at the speed of 40 km/hr reaches office 1 minute early while he reaches 3
minutes late if driving at 36 km/hr. What is the distance (in km) that she is covering?

Ans 132
2. 28
W 324
“4.30

Q.1
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faw a1v IR faseat (Answer figures) & ¥ A & 1% wea NFT (Problem
figure) & ST H F=tel aTaT Wl Wi Iof|

Problem Figure

7
7

7

Answer Figures

From the given four answer figures choose the correct water image of the problem figure.
Problem Figure

Ans 1. B
v2D

3. C

4. A

Q.12 NTP 9T H X 3 10 IMH HT AT 5.6 AT F1 X T HUMEF AT F2AT &2
The volume of 10 g of gas X is 5.6 litre at NTP. What is the molecular weight of X?

Ans 1. 20
v'2 40

3.50

4. 60

Q.13 uﬁmga%m,mmagamaﬁ A,BiRcEEmrEm ATt sk A:B
=9:8% a@'B: CHFATERM

If A, B and C are denoting Mean, Median and Mode of a data and A : B =9 : 8 then the
ratio of B : Cis:

Ans 1.5:4

2.8§:9

3.7:6

vi4i4:3
Q.14mmﬁ;§uﬁﬁmﬁhﬁmﬁmgﬁmtaﬁsﬂaﬁﬁ@a@qu

I ¥ O FEh FRE A v oar

Iron which resembles Cobalt and Nickel in properties has been placed far away from these
elements. This was one of the limitations of:

A e e Aol
Mendeleev’s periodic table
| saleR &
Dobereiner’s triads
3 Iy HEa RO
| Modern periodic table

4.;ua§%’3¢ra;r3ﬂa%a=rﬁmw

Newlands® law of octaves

v

Q.15 Fwgr 3331 TR 11 & RBsw=w & af © F7 T A9 = &2

If the number x3331 is divisible by 11, what is the face value of x? .
For More details, visit : www.10pointer.com



Ans 1.5
2. 4
V32
43

Q.16 g & & Sl 2018 F Tgelr SR 0TS T gt Sfagrw = e

‘Which team created history by winning the Ranji Trophy for the first time in January
2018?

Ans 7 et
"idarba
, 3fEem
Odisha
| TT= e
West Bengal

T

4.
Kerala

O SfefRT w7 7 ¥ B g &1 99 F:X

£ (\ % D

1 2 3 4

Select the odd figure out of the following series.

(M (\ & D

1 2 3 B
Ans 1.1

2 9
3. 4
v43

Q.18 YRUT AR T Tg, TIRUT & THAT ' GERRSAT JUTRl Y AT o,
o we v drem R & 9w w3t A s S o

Before Champaran Satyagraha, the farmers of Champaran used to follow the
‘panchkathiya’ system, whereby five katthas of land in a bigha had to be planted with

Ans TMeaAT
1.
sugarcane

AreT
indigo
FIH

3.
cotton

.
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Q.19 AT & T FoqlAF Tg, FHWH FIAS G & I F W HR T v
s & T ¥ | A e & g W RSN F FROT @HOT g ¢, A 38
IE T IXATHIT & FHROT @07 el g

Consider a hypothetical planet with a mass equal to half that of Earth and radius is one-
third that of Earth. If g is the acceleration due to gravity on Earth, the acceleration due to
gravity on the planet will be:

Ans 1.(52) g
v (92)g

5 (112)

4 (3/2) g

Q.20 = & ¥ FiF T A7 3@ A=Al o & @ e ¥ st aar
&

o, &7, 9

Which of the following Venn diagrams correctly represents the following classes:

Lion, Tiger. Animals

v 4

e

Q.21 Ry v FeFded W FoR & A a7 H & & 78 A-gaEt § @ S @
e & @)

qeFdcd:

TF TG H I3 A A AT T F - o R

o

HAl-gdIe:

1. HTeATH T T 2
2. 9T =g § T 3 dar 5g =y

Consider the given statement and decide which of the given assumptions is (are) implicit.

Statement:

‘Triple your money in one year’ — an advertisement.

Assumptions:

I.  The assurance is not genuine.
II. People want their money multiplied.

Ans 1mmm1ﬁﬁ%?r%l

Only assumption I is implicit.
For More details, visit : www.10pointer.com



1 3k 2 3t fafea adt 3
Neither assumption I nor IT is implicit.
| el AT 2 A g
Only assumption IT is implicit.
1 3R 2 2 fafe &

Both assumptions I and IT are implicit.

v

Q.22 &rr T 71T et @l 7 39K a8 T oF & svet ¥ silg @ et @ v
TS T U I & @ &l

HYeT:
RS 30T TooES §| FeoEre A g g

e
1. w=ff gRuAe =faa Fooa g
2. wfe= gfene g1

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements
Sachin is a good batsman. Batsmen are intelligent.

Conclusions
1. All intelligent people are batsman.
2. Sachin is intelligent.

Ans

ﬁﬁ&13ﬂ¢2a’rﬁmwa’rm%l

Both 1 and 2 follow.
‘B

T a1 3R T & 2 F I & @

Neither 1 nor 2 follows.

3mﬁw&1mmgﬁm%l

| Only conclusion 1 follows.

43»‘:!?'@1‘@@'2%%@'@@

Only conclusion 2 follows.

v

Q.23 fr=fof@e swer #, w7 Rear (2) gan fmmr @ R st § R
TT fawedl & Jeuieud 3R # 99T Hi

Q,N,KH,?

In the following series, one letter is missing as shown by the question mark (?). Select the
missing letter from the given options.

QN.K.H,?
Ans 1.C

v2E
3 A
4 F
Q.24 FEAST HT RANVTH gead@= 14 § AT gEgad & 1 g1 3@ &

NOIF FeuAT fohaar grem?

Atomic mass of Nitrogen is 14 and that of Hydrogen is 1.What will be the molecular mass
of Ammonia?

Ans _J’y 17
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2.18
315
416

Q28 T goT &Y
24+ (19— 9 + 3 X 9) =?

Solve the following:
24+(19—-9+3x%x9)=?
Ans 1 4
2.3
36
vi-3

O frg gor L

123 +123+1.23 +0.123 + 0.0123 =?
Solve the following:

123 +123 +1.23+ 0.123 + 0.0123 =?
Ans 1.136.653
2.136.7760
3.136.7659
v 4 136.6653

Q.27 v u=wf 5 %ari¥e WROT ST W 3% € F 39 A Fof T2,790 & e
¥ forder & ¢ ofr et o

At 5% simple interest per annum a certain sum yields a total amount of ¥ 2,790 at the end

of 3% years. The sum invested was:

Ans ' 1.¥2,400
2. %2,350

3. 32,600
4. 32,550

Q28 aff LA +, M A —, N AT x 3T P A +, @ SNOL60P3M13=2

If L stands for +, M stands for —, N stands for x and P stands for -, then 8N 9L 60P 3 M
13=2?

Ans o 1. 79
2.103
3. 95
4. 89

Q.29 wyadr 2018 &, v U7 TR Ao & v e 9w ardigs sfferar &
‘Regele Traa & 91 W@E & § F AfAg B a2r ar?
As of February 2018, which famous Bollywood actor has been named as the brand
ambassador of ‘Resurgent Rajasthan’, a state government campaign?

e AT geE
Amitabh Bachchan

For More details, visit : www.10pointer.com



3% E
Rahul Singh
STHT T
4

v
Irrfan Khan

Q.30 ve w9, 50 9 31 25 98 & Fo Rl &1 70w 93.75 T § HR 3evehr HEaT 3t
FTA 3 : 41 5 §| Tes T & F¥erh 1 TEAT A1 FIT|

Some one rupee, 50 paisa and 25 paisa coins make up rupees 93.75 and their numbers are
in the proportion of 3 : 4 : 5.Find the number of each type of coins?

Ans  of 1 45,60, 75
"2 46, 58, 75
"3.40, 70, 75
"4.42, 56,70

Q.31 57 YR THET TR T §6d §, 38 J6R AR T gefaa &

‘Alone’ is related to ‘Unaccompanied’ in the same way as ‘Amount’ is related to

Ans o=

s
Solitary

ICIECTS]

7
Secluded

SECo
3
Quake

gR&ATOT
| Quantity

Q.32 gfy e 3/Eder 90T W HTOAT & o7 30° & a Wiaae & ST & A
a1 geI?

If the angle of incidence formed on a concave mirror at a point is 30° then the angle of
reflection will be:

Ans 1.15°
v 2. 30°
3.90°
4.60°

W 4

Q.33 grer & & FEe oA ST R drr e & AT @ &
® H FREER Tgor Far 82

Who has recently taken charge as the new CEO of Indian e-commerce giant Flipkart?

e IR s
RC Bhargava

, T.F. qAIAT
AL Rajwani

, T

Sunil Duggal

For More details, visit : www.10pointer.com



v T T

Kalyan Krishnamurthy

Q.34 wradr 2018 & eelr Fr amddiver &7 ‘e uERew & Afes #ia 2
As of February 2018, who owns the Delhi-based IPL team ‘Delhi Daredevils’?

| e wEamT
Virender Sehwag

, SIFETCIREIE

Shah Rukh Khan

. Rrear 9

| Shilpa Shetty

" SLUAAR. WAE

GMR Group

Ans

Qb Rrm maR TR R IR T T F T mscR A s v = ad @
FieT AT FYA gITT

MY F HTN R e THE?

FYd:
1. fafaa &7 @ 18 3ed & Teel W 15 A # T el
2. fARET 7§ 16 3R & de W 19 3T & a6 Q|

Consider the given question and decide which of the following statements is sufficient to
answer the question.

When did Mr. Y purchase his car?

Statements:
1. Certainly before 18 August but not before 15% August.
2. Certainly after 16™ August but not later than 19 August.

Ans A @ 1 IR 2 gareT ¢
Both statement 1 and 2 are sufficient

AT A FHAT | T § AT 2

Either statement 1 or 2 is sufficient
3
3Heholl HAUT 2 TATCT § Fdfh Mhell 1 FHUT HUATT &
Statement 2 alone is sufficient while statement 1 alone is insufficient
4

aﬂm-mm1m%m‘%mw2m‘rﬁ%

Statement 1 alone is sufficient while statement 2 alone is insufficient

Q.36 2 waer wrzdt F & v Hr ZaTAT, gE T gor F e 1 A v e
A F WY FH IS GO, A IHA 8 6 F IF A @l W wHA §, 8 W
# @l &% @ R Ted §1 FH & S0 ST SART TIel &k T SR
F T fraer ue & a7 forar sreem?
One of the two inlet pipes works twice as efficiently as the other. The two, working

alongside a drain pipe that can empty a cistern all by itself in 8 hours, can fill the empty
cistern in 8 hours. How many hours will the less efficient inlet pipe take to fill the empty
cistern by itself?

Ans 1.8

2.6
V312
4.10

Q.37
For More details, visit : www.10pointer.com



Ifg & T T F 3o FA # or@r AT & AT SR F 105 Ug F AW 5ar
ug FT gEm?

R+JM2$#QR?+0O@7F3

If the given series is written in the reverse order, then what will be the 5th term to the left
of the 10th term from right end?

R+IM2$#QR?*O@TF3
Ans 1.0

2. =+
3. 7
vViF

Q.38 2 geat $r e 3.5 Wy, 4.5 Welrex il 3 S Fhr Frafy 10 a2,
A ITTTET TATT TG ¥ & 1 Hifore|

Find the length of a transverse common tangent of the two circles whose radii are 3.5cm,
4.5cm and the distance between their centres is 10cm.

e g g

8 cm

) 3.6 WEHRET

36cm

, 64 TEHRET
6.4 cm

v 6 HEHIET

6 cm

Q39 rafaf@a & W i T ASH0NT S 1 i Al 87

Which of the following is NOT a renewable source of energy?
Ans . —= =
Solar energy
|, A S
| Geothermal energy
| ShremeH & FAr
Energy from fossils
, T AT

Wind energy

v

Q.40 4% =1f¥eF TTUROT AT T T A T 1250 A AU 9T 6 Tl F AT Fraer
grm?

The interest on T 1250 for 6 years at the rate of 4% simple interest per annum will be:

Ans 1. ¥ 350
v 2. 300
3.3 360
4.3 375
Q.41 7f g7 eraret TreT v 2 T AT o & 3R T T 1 L T FSErere e
e g, A g R R

If we take a small amount of washing soda and add approximately 1 mL of dilute
hydrochloric acid to it, what will we observe?

Ans

For More details, visit : www.10pointer.com



| @IS T Hracoc a7 AT gl
White-coloured precipitate is formed.
Fa CO, | A egaree & A Awerdr g |
CO, gas comes out with brisk effervescence.
3 o Fr e & T H, A9 Frardr g

H, gas comes out with pop sound.

4.
el IETHIRIOT ARSI B &, 1S 3w 78 ReFerdn

Only neutralisation reaction occurs, no gas is released.
Q.42 frafaf@a # & #ia @ e e v R & wdr gdur sfafds & gefar &2

WESTERN

Which of the options depicts the correct mirror image of the following figure.

WESTERN

™ NH3LSIM
- WESTERN
v:-UA3TS3IW

- ME21EBW

Q.43 3fy waeoT 4x + 3y + 5 = 0 AT 6x-ky-7 = 0 & F1E g 7 & ar k
&1 7o foncen gem:

If the equations 4x + 3y + 5 = 0and 6x - ky - 7 = 0 have no solution, then the
value of k is:

Ans 1.-8

2.8
vi3-45
445

Q44 P, S & Al F FHolld IF & Teaht ¢ | P 58 &9 7 S & Fw @A 2
P is S’s mother’s only son’s wife. How is P related to S?

Ans e
1

' Mother-in-law
| Aeae/ smer [arel/ FASTHY TITAT

Sister-in-law

ErLo)

3.
Sister

T

4,
Daughter-in-law

% srnfeas aqor agaT ¥ -
Non-metallic character increases from

Ans 13‘mﬂﬁmﬂfrﬂﬁ'm¢aa?

Magnesium to Barium
For More details, visit : www.10pointer.com
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v, TSI T FdT T
Sodium to Chlorine
, Gt ¥ @feeH O
Potassium to Caesium
, FIs @ Fofaas o
Oxygen to Selenium
Q.46 7T of 5 e Rl & ¥ e F TEA v TA Yo T HgEROT Fe

¢, 39 eeT &1 999 A o 7T B & w10 woa R (?) & dgo Thar
gl

9 15
4588 9 8
10 10
A B

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure B.

4 58 |8 of 2 |8
Ans 1. 63
2.100
5117
v 478

W e Taa A wEW 39gEd Reew Y |
TGcATHYUT FH FasiAs Fadrs 7 !

Fill in the blank with the most appropriate option.

The Universal Constant of Gravitation is
Ans 1.9.8 Nm? /kg?
2.6.76 X 107*° Nm? /kg?
v 3 6.67 X 107** Nm? /kg?
4.6.67 X 10*° Nm? /kg?

Q.48

For More details, visit : www.10pointer.com



99 BT (problem figure) = & I IR 3cR TEAT (answer figures) F &
el v # wleafea &1 e oft # PRk wé oft o=

Problem Figure

AN

Answer Figures

=

A B C D

The problem figure is embedded in one of the four answer figures. Choose the correct
figure containing the following figure.

Problem Figure

AN

Answer Figures
A B c D
Ans o 1 C
2. D

3. B
4 A

Q.49 T fsmrg & 15% =idr @ fsreng & Rt s F oy st = &
I urg B AT F 2

15% of an alloy was silver. If in a quantity of alloy there was 51 g of silver, what was the
quantity of the other elements in the alloy?

ans | 2803
280 g
| 204 7MH
204 g
| 3007mH
300 g
| 340mH
340 g

Q.50 TSI &1 SR 5 SAadl 2015 N IT AT Sk ol 1 A 38k 553 A & ag g3l
et 1 STed Fha dRIE F g3 AT?

Aizaz was born on 5% January 2015, while Faiz was born 553 days later. On which date
was Faiz born?

Ans 12 Sells 2016
12 July 2016

s 11 Sfers 2016

11% July 2016

. 9 Sfells 2016

o July 2016

10 Sells 2016

110% July 2016

Q.51
For More details, visit : www.10pointer.com



76 freider 9fy o fr 71 & To= T v T 450 HieT @9 OEwE
27 ¥FE H IR FT AT g1 T T @ e 32

A train travelling at 76 km/h crosses a 450 m long platform in 27 seconds. What is the
length of the train?

Ans 130 HeT
130 m

, 110 #ex
110 m

. 100 #rex
100 m

120 A

120 m

v

Q.52 BT 717 fredt # & Hafla oeg &1 94T FL:

IfE FROG : 9268, RANG : 2538, @ FORT &5 & &7 & e faar
a2

Select the related word from the given alternatives:

IfFROG : 9268, RANG : 2538, then FORT is coded as

Ans  'H 9307
29762
39672

v 4 9627

Q.53 P & T &l @ i 3k e et w9 ¥ 3e9eT g 27
Which of the following reproduce both, sexually as well as asexually?

Ans TerEr (Algae)
' Algae
. ohddh
- Fungi
grs3r (Hydra)
: Hydra
THET

4.
Amoeba

G4 S| TR FT AR FAT &

The SI unit of weight is a:
Ans - dMH

qu
Gram

v

Newton

EER]

4

| Dyne

For More details, visit : www.10pointer.com



s FEA FT ThH HIRT 74T gl
is not an allotrope of carbon.

Ans
. THATET Forld
Buckminsterfullerene

m

21
Diamond

) AT
Graphite
" Fa SSIHFEES

Carbon Dioxide

Q%6 g =T & T el F9E Hr AT

|

&
O@?@

B D
Fill in the missing space with the correct figure.

| B

AT
B C D

A
A

Ans

L
v2A

2D
+ B

Q57 A fow =1w Aoft #r 90T F F e 7 Rwew @ w3 H
EHI, FJK, GLM, HNO,
Select the correct option to complete the following letter series.

EHI, FJK, GLM, HNO,

Ans 1 MN

For More details, visit : www.10pointer.com



v 2 IPQ
3 1QP
4IRS
Q.58 T fewarer gfoeiay & A&7 AT FETUA HOHE ST FTen Tgen Afgen
3R ggehr o i 22 gaeEe 98 v adT g

Who is the first female and the first ever Asian to become the Chief Human Resources
Officer of the Global Giant Unilever? She is incidentally an Indian.

Ane TR aTiER
Padmasree Warrior
| 3To<h Sastt
Alka Banerjee
| Indra Nooyi
, ¥ AR

Leena Nair

% FRT T PRUET ITadE A hdell o
The absolute refractive index of air 1s:
Ans 1.1.03
2.1.00003
3.1.003
v 4.1.0003

v

Q.60 s Tsgafy (WREdr 2018 @) TH a1y Hifde Fg T=7 ¥ a9 §2
Ram Nath Kovind, the Indian President as of February 2018, hails from which state?

Ans Elm
' Gujarat
, IS
Punjab
= EATT
) Rajasthan

, 3eal FewT
Uttar Pradesh

v

Q.61 2r ursT fordr @relr ¢ Fr 3ol FAM: 25 3T 40 et F sy § S
AET g s gT A 16 U A el F &av ¥ 59 & ot A @ @
2 3 J=T TrEdt B uw a@re Ter o S O & ae mET # )
SARET?

Two pipes fill a tank when working individually in 25 and 40 hours, respectively while a
third pipe can drain the filled tank in 16 hours. If all the three pipes are turned on at the
same time when the tank is empty, how long will it take to fill the tank completely?

Ans s femi1sTe
15 days 18 hours

pAr-C BR=rs
2 days 1 hour

For More details, visit : www.10pointer.com



C16f 169
16 days 16 hours

 Lfe7ee
1 day 7 hours

v

Q.62 R A T8 C & N T, 3 & & =907 &Y, o7 BT B & e g
(?) & FEom ST THaT 2l

£ 23 By

Based on figures A and C, select the option that can replace the question mark (?) in figure

B.
£
Ans A1_37 ’ ’
v 2 41
3 47
4.

™

Q83 1ot Foll forg ST &

Kinetic energy 1s equal to:
Ans 1. Ma

1
v 2 Emvz

3. mv
4. mgh
Q.64 sveaTH FEEsIET e & T Fa § Feels o@E F Hiecd IHFEH TR

e ar

‘Which Kannada writer received the Sahitya Academy Award for his novel ‘Swatantryada
Ota’?

Ans ’,1mmaﬁ

Bolwar Mahammad Kunhi
, Fordrer w1

Girish Karnad
, . T TEEET

C.N. Ramachandran

S

4.
Vaidehi
Q.65 e T # wa¥ 3ugFd fawe ot |

IfE v 9 F FHESI (Genotype) ttRr &, AT THeRIUT (Phenotype)
e |

Fill in the blank with the most appropriate option.

If the genotype of a plant is ttRr, the phenotype would be
Ans
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_ Dwarf and Round

@ o gt
Tall and Wrinkled
Dwarf and Wrinkled

, v 3 e
Tall and Round

4% 0.9 T e Forees SR &7

Square root of 0.9 is equal to
Ans  of 1.0.9487
2.0.3
3. 0.9463
4.0.03

Q.67 frw a¥ Roer af $ g & FwwE F T 3 FEw e 32

Population
0 —n—n—
70 1
60
50 -

30
195119611671198119912001

W population

20
10

Population - SFEEaT

The percentage increase in the population is highest as compared to that of the previous
year in the year:

Population

80

W population

195119611671198119912001

Ans of 11961
2.1981
32001
41971
Q.68 forefr FATIGE T U N H AFETS qAC ST ABA 24 T WA §
3R sEs Rerult & g @ Aer 14 e @

Find the length of one side of a rhombus whose area is 24 cm? and the sum of the lengths
of its diagonals is 14 cm.

Ans | AT

4 cm
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Q.69 ugg sy=mait e ageTST (pentadecagon) & Uil Hr HEAT fhae g &2

The number of diagonals in a pentadecagon is:

Ans o 60
v 2 90

3 30

4 45

Q.70 fw a1 fore 3 BRI TGe[= 1 HEAT H Il Tted e ATl adwed & g1

Select the option that represents the number of parallelograms in the given figure.

Ans .’14
2.1
3.3
4.2

7 56, 84 T 112 F1 F.H. T 272
The LCM of 56, 84 and 112 is:
Ans 1210
v 2 336
3168
4420
Q.72 7% W caeEs R wY AR Ao #Y & swd A G e st
I e 1
T
e MY Freafaeamem o Fam 12 & 1T & Teusa & Fidr #r g
AT
1. O Tget B Forer H A0 F 30 HF o1 T
2. Ig oTE F 0T ¥ aaF 3K §iEr FF 5 T F v B g

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
A top university has reduced the syllabus of Mathematics in Class 12.

Assumptions:
1. Students can score more marks than before in Mathematics.
2. This has been done to reduce the stress and burden of the students in Mathematics.

Ans 113#1?223?1‘?%%?%

Both 1 and 2 are implicit
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23?#13#\1?32%1%3%

Neither 1 and 2 is implicit
. Faer FgA= 1 AT &
| Only assumption 1 is implicit
) Faer g 2 fafga &

Only assumption 2 is implicit

07 AT @ § ¥ #i9 o 5E=r 9 ¥ fesT 22
Which of the following numbers is divisible by 9?
Ans  of 8. 12371
2. 45654
3. 45678
14.12345

v

Q.74 U 71T FeFdedl Y T AT FT Tl A Ig 9T Y & FiT § Femy gegedr
F ¥ e v & T o1 wa §

CEGEUH
Tsfr A7 o &1 FE S AT FF TEA A& L
sy

1. mef @5 F= B
2. ofel A9 TEY 4T 2l

Consider the given statements true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
All apples are red. No red fruits are cheap.

Conclusions:

1. All apples are cheap.
2. Red apples are not cheap.

1 AR 2 i JHETOT A A
| Neither 1 nor 2 follows.
df2_aﬁnq o 2 srETor = g
Only conclusion 2 follows.
1 3R 2 At e w4 8
Both 1 and 2 follow.
| e S 1 ST F g

Only conclusion 1 follows.

Q.75 ffoiia @a gEant # ¥ s a8 59 g & 7 R aw @ e
Sar ¥

The tallest peak of which of the following mountain ranges is a mountain called ‘Guru
Shikhar’?

Ans e & ymen
i
Vindhya Range
uf¥eal ure 99a sen
2:
Western Ghats Range

For More details, visit : www.10pointer.com



| T EECECICE
Satpura Range
| Il 94T e

Aravalli Range

v
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